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However here, it is because it is merely moisture

Overview

»ax explained the reason one is not 12w on 177y MR if he drinks various
fruit juices (is not because it is JNXI7 7772 K7W, but rather it) is because the
juice is considered to be &n%v2a 7v°1 and not really the fruit itself. maown will
first explain why this reason is necessary, and then challenge this reasoning.

mooIn asks:
— NP1 997 (0w x,x9p pn) AVIINY NYNIAT PNYY 13939 NN

The 5" finds this to be astounding! For in 2w mw7 279 the X i

derives from 29105 -
— %239 DN NYPN JY NON 1YY DIVN 299N PNRY

That one is not liable for 7757 if he drinks the juice of the fruits, except for

the juice that is extracted from olives (olive oil) and grapes (wine), in which

case he is liable for transgressing the > of 7197y, the reason is -
— 9185 WY “2905 11299131 *n;myanm £99993) 0291931 2999 999 nY9Y 904

For we derive 797¥ from 29153, through the MW 77713 of 912 712, and 27122
in turn is derived from 290, and concerning 72190 it is written wya°n

97X meaning (olive) oil and wine. It is apparent from that X7n32 that there is no 211
127w for fruit juices (except oil and wine) because we derive it from 0°p109 -
— NI NNIHya NPT NI 919919 TII0NIN INNN 19 ON

If that is so that there is a P05 which exempts fruit juices from 7777v, why is
it necessary for »ax to state here that there is no 17 T0°X for fruit juices

since it is merely $7¥°7, when he should have said that there is no 777y Mo°X for
drinking fruit juices because there is a ?1057!

N1B0IN answers:
— ©991931 599 %99 BNN 99915 THIOWNT XAT Y Y

And one can say; that which was necessary there in M2 to derive 797y

from 257123 through the "3 of 998 998 concerning juices -
— THONN PPYUN INY F0IVNY INY

" The xm3 begins on 2,57 (on the bottom of the 711Y).

% The 77N writes (30,0 [@°w17p] RpP*Y) concerning 727¥ that 139 NX N7y an?7w, and concerning 0°7132 that
(2,19 [R12n] @°727) ARTRA M0 WK DAP.

? The 770 in (°,2° [7%7] ©°127) writes 77> N1 which refers to 222, Therefore there is a w1 between
7170 and 07133, since the 770 refers to 27122 as 77 NN,

4 7,7 (2°09W) 0°127 reads 17 JNN 1N TAILN TWIPN T NPWRY; referring to gmN..
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It was not necessary in order to exclude other juices (besides oil and wine)
from the 777y MOX -
— 999 PPYNRY AUNY 75D NY N8 WITH 1PN 111 197

For according to the law even liquids such as wine and oil should not be

considered fruit (and should be exempt from 777y 70°K)
— N1 199N 79 NIN NaYya nyrty

For as > X states here it is merely 7¥°7; it is obvious therefore that other juices

are not considered *15 and are exempt from 7777¥ (without a ?109)
— 99971 195 918 WIPN Y NPYN IWNIY 99D TP908N NN

And what was necessary there in N1 was to derive that the liquids of

wine and oil should be considered as the fruit itself. This is what we derive
from the w"1) to 2152 and the wp°n7 to 77N that wine and oil are considered 15 and

there is an 7797¥ MoK for consuming them.
— NI NNRDYA NPT PNYNIYA 9INRT XD 5959Y NN RIYN)

And now (according to this explanation) it is properly understood what

our X223 states that juices are 817 Xnbya po7 -
— 992 IR NPYNT IPVYNIYT RIN NNRYO ININT

For it is for this very reason that we know that juices are not the fruit.

mooin asks a general question:
L NDNINT 4P¥5 DYV RN NIN NNDYA NYPITT 9N ININ NN 11N

However it is astounding! Why does >ax rule that juices are N»bw2 713

but the ruling is that it is a 790 standard that taste is like the essence!
There certainly is a ayv of the fruit in the juice; how can we say that it is Xa%v2 7v°1 and
there is no 777 21n?! Moo does not answer this question.’

Summary
The 0°7109 teach us that there is a 797 21°1 for wine and oil; since the basic

assumption is that fruit juices are Xa%va 7v°1. It is not understood why they
are not 70X on account of IP°y> avv.

> moon is perhaps adding (with this conclusion of 121 99w *nx Xnwm), that one should not think that »aX is
merely deflecting the proof of X7°1 ' (that the reason there is no 727y 21 by M7 " is because it is
considered "21 7173 R7W), but rather the reasoning of *ax is 71°5w °nX more than the explanation of &7 .
According to X1 " it would seem that there is a 727y 17 by 77%" w17°n because that is considered 777,
however by all other N17°9 *» it is not considered 7772. If this is indeed so, why is there a need for the w"x
of 191 2321 *19 19 to teach anything (whether it is 777¥ 211 by 717%™ w17°N or 7717Y MWD by M "), since
it is all self understood. However according to *»ax that all M7 " (including 7%™ w17°N) are R?Y2 797,
then it is understood the the "5 »5 w"1 teaches us that there is 777¥ by 273%™ v17°n (even though it is 7v7
Nnov2).

® See the Xma later on 3,71 where the ruling of 7p°¥> ayv is derived from different 2°p105. When the taste of
the 710°X is noticeable in another food (either through cooking or soaking, etc.), then that food is also 710x.

" See 131 w"wA ;bW *ran "0 who deal with this question. See also 1177 7R and P NIX 2",
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Thinking it over
When we distinguish oil and wine from other juices is it because there is a
physical difference between them or because the 7710 says so?°

8 See oAMaxR NoM3.
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